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Function03 for No.2

NO]_[ d=[y=(x+5)-6] 3=[y=x"+6x+9] .5=[y:—x2—8x—13]}
l2=[y==2(x-1)-2] 4=[y=2x"-28x+99] .6=[y=-3(x+5)*-2]
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No2=(f(x)=—x"-8x—-16), ,No3=(f(x)=-x"+2x+48)
No6=(p=300-0.1x)

No7 : N = 80 ’
: P1 = 3000 , P2 = 3300 , P3 = 3600 ,
: B = 300 , M = 462300
No8 : P =9 , L =12 , A =100 , D =117
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Function03 Answers for No.2

AreaS(x)=x2

reaR=x(x+9)
.3=36
4=10

_[ASz 169}
~LAR =286

Ansl .1 > yellow
.2 > red
.3 > blue
.4 > gray
.5 > green
.6 > black
Ans | 2 | 3 | 4 | 5 |
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (-infinity,49) | (=9,infinity) | (-infinity,25) |
.4 (-4,0) | (-6,0),(8,0) | (=5,0),(1,0) | (=5,0),(5,0) |
.5 (-4,0) | (1, 49) | (-2, —9) | (0, 25)
.6 | Maximum | Maximum | Minimum | Maximum |
.7 max = 0 | max = 49 | min = -9 | max = 25 |
-
A
1 =[Income(x) = (3000 + 300 80 —
1 =[P(x)=(300-0.1 x)x] [ (x)=( ) (80-x)]
Ans6 = 2 = [1500.00, 225000 ] , Ans7 = 2=1{6900, 20100 } , Ans8 =
N e 3=[13500, 607500] S
L .6=
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[f(x)=9x]
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